



Hyperstability of Orthogonally Pexider Lie Functional Equation: An Orthogonally Fixed Point Approach

Vahid Keshavarz^{1,*}, Sedigheh Jahedi¹, Madjid Eshaghi Gordji² and Shayan Bazeghi²

¹Department of Mathematics, Shiraz University of Technology P. O. Box 71557-13875, Shiraz, Iran
e-mail : v.keshavarz68@yahoo.com (V. Keshavarz); jahedi@sutech.ac.ir (S. Jahedi)

²Department of Mathematics, Semnan University, P. O. Box 35195-363, Semnan, Iran
e-mail : meshaghi@semnan.ac.ir (M.E. Gordji); shayan.shbk@yahoo.com (S. Bazeghi)

Abstract In the present paper, by using orthogonally fixed point methods we prove the stability and hyperstability of orthogonally Pexider Lie homomorphisms and derivations on orthogonally Lie Banach algebras.

MSC: 39B82; 39B55; 47H10; 46L05

Keywords: orthogonally Pexider Lie homomorphism; orthogonally Pexider Lie derivation; orthogonally fixed point; hyperstability

Submission date: 03.03.2019 / Acceptance date: 18.01.2022

1. INTRODUCTION AND PRELIMINARIES

The study of stability problem of functional equations which had been raised by Ulam [1] have been done by several authors on different functional equations (see [2–6]). In 1941 [7], Hyers solved the approximately additive mappings on the setting of Banach spaces. Hyers theorem was generalized by Th. M. Rassias [8]. A generalization of the theorem of Th. M. Rassias was obtained by Găvruta [9] by replacing a general control function $\varphi : X \times X \rightarrow [0, \infty)$.

One of the generalization version of Cauchy equation is the Pexider type $g(a + b) = g_1(a) + g_2(b)$. Jun et al. [10] proved the stability of Pexider equation. In [11], Eshaghi Gordji et al. introduced the concept of orthogonally set.

Definition 1.1. [11] Let $\mathcal{A} \neq \emptyset$ and $\perp \subseteq \mathcal{A} \times \mathcal{A}$ be a binary relation. \perp is called an orthogonally set (briefly O-set) and denotes it by (\mathcal{A}, \perp) if \perp satisfies in

$$\exists a_0; (\forall b; b \perp a_0) \text{ or } (\forall b; a_0 \perp b),$$

If (\mathcal{A}, \perp) is an O-set and (\mathcal{A}, d) is a generalized metric space, then (\mathcal{A}, \perp, d) is called orthogonally generalized metric space.

*Corresponding author.

Definition 1.2. [11] Let (\mathcal{A}, \perp, d) be an orthogonally metric space.

(i) A sequence $\{a_n\}_{n \in \mathbb{N}}$ is called orthogonally sequence (briefly O-sequence) if

$$(\forall n; a_n \perp a_{n+1}) \text{ or } (\forall n; a_{n+1} \perp a_n).$$

(ii) A mapping g from \mathcal{A} into \mathcal{A} is \perp -continuous in $a \in \mathcal{A}$ if for all O-sequence $\{a_n\}_{n \in \mathbb{N}}$ in \mathcal{A} with $a_n \rightarrow a, g(a_n) \rightarrow g(a)$. Clearly, every continuous map is \perp -continuous at any $a \in \mathcal{A}$.

(iii) (\mathcal{A}, \perp, d) is orthogonally complete (briefly O-complete) if every Cauchy O-sequence is convergent to a point in \mathcal{A} .

(iv) A mapping g from \mathcal{A} into \mathcal{A} is \perp -preserving if for all $a, b \in \mathcal{A}$ with $a \perp b$, then $g(a) \perp g(b)$.

(v) A mapping g from \mathcal{A} into \mathcal{A} is called orthogonality contraction with Lipschitz constant $0 < \lambda < 1$ if

$$d(g(a), g(b)) \leq \lambda d(a, b) \text{ where } a \perp b.$$

Theorem 1.3 ([12]). Suppose that (\mathcal{A}, d, \perp) is an O-complete generalized metric space. Let $J : \mathcal{A} \rightarrow \mathcal{A}$ be a \perp -preserving, \perp -continuous and \perp - λ -contraction. Let $a_0 \in \mathcal{A}$ satisfies for all $b \in \mathcal{A}, a_0 \perp b$ or for all $b \in \mathcal{A}, b \perp a_0$, and consider the “O-sequence of successive approximations with initial element a_0 ”: $a_0, J(a_0), J^2(a_0), \dots, J^n(a_0), \dots$. Then, either

$$d(J^n(a_0), J^{n+1}(a_0)) = \infty \quad \forall n \geq 0$$

or there exists a positive integer n_0 such that

$$d(J^n(a_0), J^{n+1}(a_0)) < \infty$$

for all $n > n_0$. If the second alternative holds, then

- (1) The O-sequence of $\{J^n(a_0)\}$ converges to a fixed point a^* of J .
- (2) a^* is the unique fixed point of J in $\mathcal{A}^* = \{b \in \mathcal{A} : d(J^n(a_0), b) < \infty\}$.
- (3) If $b \in \mathcal{A}$, then

$$d(b, a^*) \leq \frac{1}{1 - \lambda} d(b, J(b)).$$

In this paper, by using the concept of orthogonally sets and orthogonally fixed point theorem we prove the stability of orthogonally Pexider Lie homomorphisms and orthogonally Pexider Lie derivations in orthogonally Lie Banach algebras in section 2 and 3 respectively.

2. ORTHOGONALLY PEXIDER LIE HOMOMORPHISM

Let \mathcal{A} be a Lie Banach algebra and $\perp \subseteq \mathcal{A} \times \mathcal{A}$ be an orthogonally set. (\mathcal{A}, \perp) is called orthogonally Lie Banach algebra.

Definition 2.1. Let (\mathcal{A}, \perp) be an orthogonally Lie Banach algebra and let $g, g_1, g_2 : \mathcal{A} \rightarrow \mathcal{A}$ be mappings satisfying

$$\begin{cases} g(a + b) = g_1(a) + g_2(b), \\ g([a, b]) = [g_1(a), g_2(b)], \end{cases} \tag{2.1}$$

for all $a, b \in \mathcal{A}$ with $a \perp b$. The system of equations (2.1) is called an orthogonally Pexider Lie homomorphism.

Throughout the paper, suppose that \mathcal{A} is an orthogonally Lie Banach algebra, $\phi, \varphi : \mathcal{A}^2 \rightarrow [0, \infty)$ are mappings, $i \in \{-1, 1\}$ and $0 < L < 1$.

Theorem 2.2. Let $g, g_1, g_2 : \mathcal{A} \rightarrow \mathcal{A}$ are mappings and g be an odd mapping for which

$$\|g(a+b) - g_1(a) - g_2(b)\| \leq \varphi(a, b), \quad (2.2)$$

$$\|g([a, b]) - [g_1(a), g_2(b)]\| \leq \phi(a, b), \quad (2.3)$$

where

$$\lim_{n \rightarrow \infty} \frac{\varphi(2^{ni}a, 2^{ni}b)}{2^{ni}} = 0, \quad (2.4)$$

$$\lim_{n \rightarrow \infty} \frac{\phi(2^{ni}a, b)}{2^{ni}} = \lim_{n \rightarrow \infty} \frac{\phi(a, 2^{ni}b)}{2^{ni}} = 0 \quad (2.5)$$

where $a \perp b$. If there exists $0 < L < 1$ such that for any fixed $a \in \mathcal{A}$, and some $v_a \in \mathcal{A}$ with $a \perp v_a$ the mapping

$$\begin{aligned} a \mapsto \psi(a, v_a) = & \varphi\left(\frac{a+v_a}{2}, \frac{a-v_a}{2}\right) + \varphi\left(0, \frac{a-v_a}{2}\right) + \varphi\left(\frac{a+v_a}{2}, 0\right) + \varphi\left(\frac{a}{2}, \frac{v_a}{2}\right) \\ & + \varphi\left(\frac{a}{2}, \frac{-v_a}{2}\right) + 2\varphi\left(\frac{a}{2}, 0\right) + \varphi\left(0, \frac{v_a}{2}\right) + \varphi\left(0, \frac{-v_a}{2}\right) \end{aligned} \quad (2.6)$$

has the property

$$\psi(a, v_a) \leq L2^i \psi\left(\frac{a}{2^i}, \frac{v_a}{2^i}\right). \quad (2.7)$$

Then there exists is a unique $G : \mathcal{A} \rightarrow \mathcal{A}$ orthogonally Lie homomorphism such that

$$\begin{aligned} \|g(a) - G(a)\| & \leq \frac{L^{\frac{1+i}{2}}}{1-L} \psi(a, v_a), \\ \|g_1(a) - g_1(0) - G(a)\| & \leq \frac{L^{\frac{1+i}{2}}}{1-L} \psi(a, v_a) + \varphi(a, 0), \\ \|g_2(a) - g_2(0) - G(a)\| & \leq \frac{L^{\frac{1+i}{2}}}{1-L} \psi(a, v_a) + \varphi(0, a) \end{aligned} \quad (2.8)$$

for all $a \in \mathcal{A}$.

Proof. First of all, since g is an odd, then $\phi(0, 0) = \varphi(0, 0) = 0$. Let E be the set of all mappings $e : \mathcal{A} \rightarrow \mathcal{A}$ such that for all $a \in \mathcal{A}$, $e(a) \perp \frac{1}{2}e(2a)$ or $\frac{1}{2}e(2a) \perp e(a)$ and $e(0) = 0$. For any fixed $a \in \mathcal{A}$ and some $v_a \in \mathcal{A}$ with $a \perp v_a$ define $d : E^2 \rightarrow [0, \infty)$ by

$$d(e_1, e_2) = \inf \left\{ K \in \mathbb{R}_+ : \|e_1(a) - e_2(a)\| \leq K\psi(a, v_a) \quad \forall e_1 \perp e_2 \text{ and } a \perp v_a \right\}.$$

Clearly (E, \perp, d) is an O-complete generalized metric space. Define $J : E \rightarrow E$, by $Je(a) = \frac{1}{2^i}e(2^i a) \quad \forall a \in \mathcal{A}$. J is a strictly \perp -contractive mapping. Indeed, for given e_1 and e_2 in E with $d(e_1, e_2) < K$ where K is a real number and for any fixed $a, v_a \in \mathcal{A}$ with $a \perp v_a$, we have

$$\begin{aligned} \|e_1(a) - e_2(a)\| & \leq K\psi(a, v_a) \\ \left\| \frac{1}{2^i}e_1(2^i a) - \frac{1}{2^i}e_2(2^i a) \right\| & \leq \frac{1}{2^i}K\psi(2^i a, 2^i v_a) \\ \left\| \frac{1}{2^i}e_1(2^i a) - \frac{1}{2^i}e_2(2^i a) \right\| & \leq LK\psi(a, v_a) \\ d(Je_1, Je_2) & \leq LK. \end{aligned}$$

Put $K = d(e_1, e_2) + \frac{1}{n}$ for $n \in \mathbb{Z}^+$. Then $d(Je_1, Je_2) \leq L(d(e_1, e_2) + \frac{1}{n})$. Letting $n \rightarrow \infty$ then

$$d(Je_1, Je_2) \leq Ld(e_1, e_2) \quad \forall e_1, e_2 \in E.$$

Let $a, b = 0$ in (2.2) and (2.3), we get

$$g(0) = 0 \quad , \quad g_1(0) = g_2(0) = 0. \quad (2.9)$$

Put $b = 0$ in (2.2) and (2.9), respectively, so we obtain

$$\|g(a) - g_1(a) - g_2(0)\| \leq \varphi(a, 0),$$

$$\|g(a) - g_1(a) - g_1(0)\| \leq \varphi(a, 0). \quad (2.10)$$

Now by setting $a = 0$ in (2.2) and (2.9), respectively, we have

$$\|g(b) - g_1(0) - g_2(b)\| \leq \varphi(0, b)$$

$$\|g(b) - g_2(b) - g_2(0)\| \leq \varphi(0, b). \quad (2.11)$$

So, $d(g, Jg) \leq L = L^1 < \infty$. By using the prove of Theorem 2.1 in [13], we have

$$\|g(a) - 2g\left(\frac{a}{2}\right)\| \leq \psi(a, v_a),$$

that is, $d(g, Jg) \leq 1 = L^0 < \infty$.

By Theorem 1.3, since $\lim_{n \rightarrow \infty} d(J^n g, d) = 0$, there exists $G : \mathcal{A} \rightarrow \mathcal{A}$ which is the unique fixed point of J in the set

$$M = \{e \in E : d(g, e) < \infty\}$$

such that

$$G(a) = \lim_{n \rightarrow \infty} \frac{g(2^{ni} a)}{2^{ni}}.$$

Thus we have

$$d(g, G) \leq \frac{1}{1-L} d(g, Jg)$$

which yields

$$\|g(a) - G(a)\| \leq \frac{L^{\frac{1+i}{2}}}{1-L} \psi(a, v_a).$$

Further, using inequalities (2.10) and (2.11), we have

$$\begin{aligned} \|g_1(a) - g_1(0) - G(a)\| &\leq \|g(a) - g_1(a) - g_1(0)\| + \|g(a) - G(a)\| \\ &\leq \frac{L^{\frac{1+i}{2}}}{1-L} \psi(a, v_a) + \varphi(a, 0), \end{aligned}$$

$$\begin{aligned} \|g_2(a) - g_2(0) - G(a)\| &\leq \|g(a) - g_2(a) - g_2(0)\| + \|g(a) - G(a)\| \\ &\leq \frac{L^{\frac{1+i}{2}}}{1-L} \psi(a, v_a) + \varphi(0, a) \end{aligned}$$

as desired.

The inequalities (2.10) and (2.11), imply that

$$\|2^{-ni}g(2^{ni}a) - 2^{-ni}g_1(2^{ni}a) - 2^{-nj}g_1(0)\| \leq 2^{-ni}\varphi(2^{ni}a, 0),$$

$$\|2^{-ni}g(2^{ni}a) - 2^{-ni}g_2(2^{ni}a) - 2^{-ni}g_2(0)\| \leq 2^{-ni}\varphi(0, 2^{ni}a)$$

for all $a \in \mathcal{A}$, whence

$$G(a) = \lim_{n \rightarrow \infty} \frac{g_1(2^{ni}a) - g_1(0)}{2^{ni}} = \lim_{n \rightarrow \infty} \frac{g_2(2^{ni}a) - g_2(0)}{2^{ni}}. \quad (2.12)$$

Let $a, b \in \mathcal{A}$ with $a \perp b$. By Definition 1.1 we have $2^{ni}a \perp 2^{ni}b$ for all $n \in \mathbb{N}$ and from (2.2), (2.4) and (2.12), we get

$$\begin{aligned} & \|2^{-nj}g(2^{ni}(a+b)) - 2^{-ni}(g_1(2^{ni}a) + g_1(0)) - 2^{-nj}(g_2(2^{ni}b) + g_2(0))\| \\ &= \|2^{-ni}g(2^{ni}(a+b)) - 2^{-ni}g_1(2^{ni}a) - 2^{-ni}g_2(2^{ni}b)\| \\ &\leq 2^{-ni}\varphi(2^{ni}a, 2^{ni}b). \end{aligned}$$

Letting $n \rightarrow \infty$, then $G(a+b) - G(a) - G(b) = 0$. Therefore G is an orthogonally additive.

Now, we claim that the mapping G is an orthogonally Lie homomorphism. Define $t : \mathcal{A} \rightarrow \mathcal{A}$ by

$$t([a, b]) = g([a, b]) - [g_1(a), g_2(b)] \quad \forall a, b \in \mathcal{A}, a \perp b.$$

By (2.5), we have

$$\lim_{n \rightarrow \infty} \frac{t(2^{ni}a, b)}{2^{ni}} = 0. \quad (2.13)$$

Utilizing the relations (2.12), (2.13), we have

$$\begin{aligned} G([a, b]) &= \lim_{n \rightarrow \infty} \frac{g(2^{ni}([a, b]))}{2^{ni}} = \lim_{n \rightarrow \infty} \frac{g([2^{ni}a, b])}{2^{ni}} \\ &= \lim_{n \rightarrow \infty} \frac{[2^{ni}g_1(2^{ni}a), g_2(b)] + t([2^{ni}a, b])}{2^{ni}} \\ &= \lim_{n \rightarrow \infty} \left([g_1(2^{ni}a), g_2(b)] + \frac{t([2^{ni}a, b])}{2^{ni}} \right) = [G(a), g_2(b)], \end{aligned} \quad (2.14)$$

for all $a, b \in \mathcal{A}$ with $a \perp b$. Now, let $n \in \mathbb{N}$ be fixed and $a, b \in \mathcal{A}$ with $a \perp b$. By using (2.14) and orthogonal additivity of G , one obtains

$$[G(a), g_2(2^{ni}b)] = G([a, (2^{ni}b)]) = G([(2^{ni}a), b]) = [G(2^{ni}a), g_2(b)] = 2^{ni}[G(a), g_2(b)]$$

which yields

$$[G(a), \frac{g_2(2^{ni}b)}{2^{ni}}] = [G(a), g_2(b)]. \quad (2.15)$$

A comparison of the (2.15) relation with (2.14) shows that

$$G([a, b]) = [G(a), \frac{g_2(2^{ni}b)}{2^{ni}}].$$

Taking the limit as $n \rightarrow \infty$, then $G([a, b]) = [G(a), G(b)]$. ■

Corollary 2.3. *Let $\theta, \varepsilon \geq 0$ and $g, g_1, g_2 : \mathcal{A} \rightarrow \mathcal{A}$ be mappings such that g is an odd mapping for which*

$$\|g(a + b) - g_1(a) - g_2(b)\| \leq \varepsilon(\|a\|^q + \|b\|^q)$$

$$\|g([a, b]) - [g_1(a), g_2(b)]\| \leq \theta\|a\|^s\|b\|^r$$

where $a \perp b$ and q, s, r are real numbers. Then there exists a unique orthogonally Lie homomorphism $G : \mathcal{A} \rightarrow \mathcal{A}$ such that

$$\|g(a) - G(a)\| \leq \frac{2^{\frac{i(1+i)(q-1)}{2}}}{1 - 2^{i(q-1)}} \varepsilon \left(2\|a + v_a\|^q + 2\|a - v_a\|^q + 4\|a\|^q + 4\|v_a\|^p \right),$$

$$\|g_1(a) - g_1(0) - G(a)\| \leq \varepsilon \left\{ \frac{2^{\frac{i(1+i)(q-1)}{2}}}{1 - 2^{i(q-1)}} (2\|a + v_a\|^q + 2\|a - v_a\|^q + 4\|a\|^q + 4\|v_a\|^q) + (\|a\|^q) \right\},$$

$$\|g_2(a) - g_2(0) - G(a)\| \leq \varepsilon \left\{ \frac{2^{\frac{i(1+i)(q-1)}{2}}}{1 - 2^{i(q-1)}} (2\|a + v_a\|^q + 2\|a - v_a\|^q + 4\|a\|^q + 4\|v_a\|^q) + (\|a\|^q) \right\}$$

for any fixed $a \in \mathcal{A}$ and some $v_a \in \mathcal{A}$ with $a \perp v_a$, where $q, s < 1$ for $i = 1$ and $q, s > 1$ for $i = -1$.

In the next theorem, we investigate the hyperstability of orthogonally Pexider Lie homomorphisms.

Theorem 2.4. *Assume that $g, g_1, g_2 : \mathcal{A} \rightarrow \mathcal{A}$ satisfying the system*

$$\|g(a + b) - g_1(a) - g_2(b)\| \leq \varphi(a, b),$$

$$\|g([a, b]) - [g_1(a), g_2(b)]\| \leq \phi(a, b),$$

where ϕ, φ satisfying in (2.4) and (2.5) for all $a, b \in \mathcal{A}$ with $a \perp b$. Let $g_1(0) = g_2(0) = 0$ and \mathcal{A} be an orthogonally Lie Banach algebra without order, i.e. $a\mathcal{A} = 0$ or $a\mathcal{A} = 0$ implies that $a = 0$. If g is an odd mapping, $\phi(0, 0) = \varphi(0, 0) = 0$ such that for all $a \in \mathcal{A}$ that is fixed, and some $v_a \in \mathcal{A}$ with $a \perp v_a$ and ψ ((2.6) in Theorem 2.2) has the property

$$\psi(a, v_a) \leq L2^i\psi\left(\frac{a}{2^i}, \frac{v_a}{2^i}\right). \tag{2.16}$$

Then two mappings g_1, g_2 are orthogonally Lie homomorphisms, and if either $\varphi(0, a) = 0$ or $\varphi(a, 0) = 0$, then g is an orthogonally Lie homomorphism.

Proof. By Theorem 2.2, mapping $G : \mathcal{A} \rightarrow \mathcal{A}$ is an orthogonally Lie homomorphism such that

$$G(a) = \lim_{n \rightarrow \infty} \frac{g(2^{ni}a)}{2^{ni}} = \lim_{n \rightarrow \infty} \frac{g_1(2^{ni}a)}{2^{ni}} = \lim_{n \rightarrow \infty} \frac{g_2(2^{ni}a)}{2^{ni}} \quad \forall a \in \mathcal{A}. \tag{2.17}$$

Since $g_1(0) = g_2(0) = 0$, then by applying (2.17) in (2.15), we conclude that $G(a)(G(b) - g_2(b)) = 0$ for all $a, b \in \mathcal{A}$. Therefore, $G = g_2$.

Let $a, b \in \mathcal{A}$ with $a \perp b$ and t be the mapping which defined in Theorem 2.2. By (2.5)

$$\lim_{n \rightarrow \infty} \frac{r(a, 2^{ni}b)}{2^{ni}} = 0. \quad (2.18)$$

Using (2.17) and (2.18), we have

$$G([a, b]) = [g_1(a), g_2(a)]. \quad (2.19)$$

According to proof of Theorem 2.2, we get

$$\left[\frac{g_1(2^{ni}a)}{2^{ni}}, g_2(b) \right] = [g_1(a), g_2(b)].$$

By applying (2.17) in the above relation we conclude that $g_1 = G$. By applying (2.16) to the either relation (2.10) or relation (2.11) satisfy in last hypothesis of this theorem, then g is orthogonally Lie homomorphism. ■

3. ORTHOGONALLY PEXIDER LIE DERIVATION

In this section, we investigate the stability and hyperstability of the orthogonally Pexider Lie derivations on orthogonally Lie Banach algebras by using the orthogonally fixed point approach.

Definition 3.1. Let (A, \perp) be an orthogonally Lie Banach algebra and let $d, d_1, d_2 : A \rightarrow A$ be mappings satisfying

$$\begin{cases} d(a+b) = d_1(a) + d_2(b), \\ d([a, b]) = [d_1(a), b] + [a, d_2(b)], \end{cases} \quad (3.1)$$

for all $a, b \in \mathcal{A}$ with $a \perp b$. The system (3.1) is called an orthogonally Pexiderized Lie derivation.

Theorem 3.2. Let $d, d_1, d_2 : \mathcal{A} \rightarrow \mathcal{A}$ be mappings, d is odd and satisfying inequalities

$$\|d(a+b) - d_1(a) - d_2(b)\| \leq \varphi(a, b), \quad (3.2)$$

$$\|d([a, b]) - [d_1(a), b] - [a, d_2(b)]\| \leq \phi(a, b), \quad (3.3)$$

where ϕ, φ satisfy in (2.4) and (2.5) for all $a, b \in \mathcal{A}$ with $a \perp b$. If d is an odd mapping, $\phi(0, 0) = \varphi(0, 0) = 0$ and there exists $0 < L < 1$ such that for any fixed $a \in \mathcal{A}$ and some $v_a \in \mathcal{A}$ with $a \perp v_a$, the mapping ψ ((2.6) in Theorem 2.2) has the property

$$\psi(a, v_a) \leq L2^i \psi\left(\frac{a}{2^i}, \frac{v_a}{2^i}\right).$$

Then there exists is a unique orthogonally Lie derivation $D : \mathcal{A} \rightarrow \mathcal{A}$ such that

$$\|d(a) - D(a)\| \leq \frac{L^{\frac{1+i}{2}}}{1-L} \psi(a, v_a),$$

$$\|d_1(a) - d_1(0) - D(a)\| \leq \frac{L^{\frac{1+i}{2}}}{1-L} \psi(a, v_a) + \varphi(a, 0),$$

$$\|d_2(a) - d_2(0) - D(a)\| \leq \frac{L^{\frac{1+i}{2}}}{1-L} \psi(a, v_a) + \varphi(0, a).$$

Proof. According to the proof of Theorem 2.2, there exists a mapping D which is the fixed point of J and satisfying

$$\|f(a) - D(a)\| \leq \frac{L^{\frac{1+i}{2}}}{1-L} \psi(a, v_a).$$

for all fixed $a, v_a \in \mathcal{A}$ with $a \perp v_a$. Moreover,

$$D(a) = \lim_{n \rightarrow \infty} \frac{d(2^{ni}a)}{2^{ni}} = \lim_{n \rightarrow \infty} \frac{d_1(2^{ni}a)}{2^{ni}} = \lim_{n \rightarrow \infty} \frac{d_2(2^{ni}a)}{2^{ni}}. \tag{3.4}$$

for all $a \in \mathcal{A}$.

To show that the mapping D is a Lie derivation, define $t : \mathcal{A} \rightarrow \mathcal{A}$ by $t([a, b]) = d([a, b]) - [d_1(a), b] - [a, d_2(b)]$ for all $a, b \in \mathcal{A}$ with $a \perp b$. It follows from (2.5) that

$$\lim_{n \rightarrow \infty} \frac{t([2^{ni}a, b])}{2^{ni}} = 0. \tag{3.5}$$

Therefore from (3.4) and (3.5), we get

$$\begin{aligned} D([a, b]) &= \lim_{n \rightarrow \infty} \frac{d([2^{ni}a, b])}{2^{ni}} \\ &= \lim_{n \rightarrow \infty} \frac{[d_1(2^{ni}a), b] + [2^{ni}a, d_2(b)] + t([2^{ni}a, b])}{2^{ni}} \\ &= [D(a), b] + [a, d_2(b)] \end{aligned} \tag{3.6}$$

where $a \perp b$. Now let $n \in \mathbb{N}$ be fixed and $a, b \in \mathcal{A}$ with $a \perp b$. By (3.6) and additivity of D , it can be shown that

$$\begin{aligned} [D(a), 2^{ni}b] + [a, d_2(2^{ni}b)] &= D([a, 2^{ni}b]) = D([2^{ni}a, b]) = [D(2^{ni}a), b] + [2^{ni}a, d_2(b)] \\ &= [2^{ni}D(a), b] + [2^{ni}a, d_2(b)] \end{aligned}$$

and then $[D(a), b] + [a, \frac{d_2(2^{ni}a)}{2^{ni}}] = D([a, b])$. So

$$D([a, b]) = [D(a), b] + [a, D(b)].$$

whenever $n \rightarrow \infty$. This completes the proof. ■

In the Next corollary, the result of Th. M. Rassias can be generalized if, we define

$$\begin{aligned} \varphi(a, b) &= \varepsilon(\|a\|^q + \|b\|^q), \\ \phi(a, b) &= \theta\|a\|^s\|b\|^r \end{aligned}$$

where q, s, r and $\theta, \varepsilon \geq 0$ are real numbers. As a consequence of Theorem 2.4, we have hyperstability of orthogonally Pexider Lie derivation.

Theorem 3.3. *Let mappings $d, d_1, d_2 : \mathcal{A} \rightarrow \mathcal{A}$ satisfying*

$$\begin{aligned} \|d(a + b) - d_1(a) - d_2(b)\| &\leq \varphi(a, b), \\ \|d([a, b]) - [d_1(a), b] - [a, d_2(b)]\| &\leq \phi(a, b), \end{aligned}$$

where ϕ, φ satisfy in (2.4) and (2.5) for all $a, b \in \mathcal{A}$ with $a \perp b$. Let $d_1(0) = d_2(0) = 0$ and \mathcal{A} be an orthogonally Lie Banach algebra without order, i.e. $\mathcal{A}a = 0$ or $a\mathcal{A} = 0$ implies that $a = 0$. If d is an odd mapping, $\phi(0, 0) = \varphi(0, 0) = 0$ and there exists $0 < L < 1$ such

that for any fixed $a \in \mathcal{A}$ and some $v_a \in \mathcal{A}$ with $a \perp v_a$, the mapping ψ ((2.6) in Theorem 2.2) has the property

$$\psi(a, v_a) \leq L2^i \psi\left(\frac{a}{2^i}, \frac{v_a}{2^i}\right),$$

then two mappings d_1, d_2 are orthogonally Lie derivations, and if either $\varphi(0, a) = 0$ or $\varphi(a, 0) = 0$ for all $a \in \mathcal{A}$, then d is an orthogonally Lie derivation.

REFERENCES

- [1] S.M. Ulam, Problems in Modern Mathematics, Chapter VI, Science Ed. Wiley, New York, 1940.
- [2] T. Bantaojai, C. Suanoom, Stability of a generalization of Cauchy's and the quadratic functional equations in quasi-Banach spaces, Thai J. Math. 18 (2020) 963–975.
- [3] M.E. Gordji, V. Keshavarz, J.R. Lee, D.Y. Shin, Stability of ternary m -derivations on ternary Banach algebras, J. Comput. Anal. Appl. 21 (2016) 640–644.
- [4] S. Jahedi, V. Keshavarz, Approximate generalized additive-quadratic functional equations on ternary Banach algebras, Journal of Mathematical Extension 16 (2022) 1–11 doi.org/10.30495/JME.2022.1859.
- [5] V. Keshavarz, S. Jahedi, M.E. Gordji, Ulam-Hyers stability of C^* -ternary 3-Jordan derivations, South East Asian Bull. Math. 45 (2021) 55–64.
- [6] A. Thanyacharoen, W. Sintunavarat, The stability of an additive-quartic functional equation in quasi- β -normed spaces with the fixed point alternative, Thai J. Math. 18 (2020) 577–592.
- [7] D.H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci. USA. 27 (1941) 222–224.
- [8] Th.M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Am. Math. Soc. 72 (1978) 297–300.
- [9] P. Găvruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 184 (1994) 431–436.
- [10] K.W. Jun, D.S. Shin, B.D. Kim, On the Hyers-Ulam-Rassias stability of the Pexider equation, J. Math. Anal. Appl. 239 (1999) 20–29.
- [11] M.E. Gordji, M. Ramezani, M.D.L. Sen, Y.J. Cho, On orthogonal sets and Banach fixed point theorem, Fixed Point Theory, 18 (2017) 569–578.
- [12] A. Bahraini, G. Askari, M.E. Gordji, R. Gholami, Stability and hyperstability of orthogonally $*m$ -homomorphisms in orthogonally Lie C^* -algebras: A fixed point approach, J. Fixed Point Theory Appl. 20 (2018) 12 page.
- [13] M. Eshaghi, S. Abbaszadeh, On the orthogonal Pexider derivations in orthogonality Banach algebras, Fixed Point Theory 17 (2016) 327–340.